Question Paper Name:

National Testing Agency

Paper | EHG 10th Jan 2019 Shift 1

Subject Name: Paper | EHG
Creation Date; 2019-01-10 14.07:57
Duration: 180
Total Marks: 360
Display Marks: Yes
Paperl
Group Number : 1
Group Id: 416529118
Group Maximum Duration : 0
Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 360
Physics
Section Id : 416529136
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 416529145
Question Shuffling Allowed : Yes

Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

The density of a material in SI units is
128 kg m 3. In certain units in which the
unit of length is 25 cm and the unit of mass
is 50 g, the numerical value of density of

the material is :
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Two guns A and B can fire bullets at speeds
1 km/s and 2 km/ s respectively. From a
point on a horizontal ground, they are fired
in all possible directions. The ratio of
maximum areas covered by the bullets
fired by the two guns, on the ground is :
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1 1:2
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In the cube of side “a’ shown in the figure,
the vector from the central point of the face
ABOD to the central point of the face

BEFO will be :
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A piece of wood of mass 0.03 kg is dropped
from the top of a 100 m height building.
Al the same time, a bullet of mass
0.02 kg is fired vertically upward, with a
velocity 100 ms I from the ground. The
bullet gets embedded in the wood. Then
the maximum height to which the
combined system reaches above the top of
the building before falling below is :
(g =10ms 2

Options:

1 40 m

5 30 m

3_2‘0111

s 10 m
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A block of mass m is kept on a platform
which starts from rest with constant
acceleration g/2 upward, as shown in fig.
Work done by normal reaction on block in
time tis :
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m 5
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A homogeneous solid cylindrical roller of
radius R and mass M is pulled on a cricket
pitch by a horizontal force. Assuming
rolling without slipping, angular
acceleration of the cylinder is :
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To mop-clean a floor, a cleaning machine
presses a circular mop of radius R
vertically down with a total force F and
rotates it with a constant angular speed
about its axis. If the force F is distributed
uniformly over the mop and if coefficient
of Iriction between the mop and the floor
is u, the torque, applied by the machine
on the mop is :

Options:
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A satellite is moving with a constant speed
v in circular orbit around the earth. An
object of mass ‘m’ is ejected from the
satellite such that it just escapes from the
gravitational pull of the earth. At the time
of ejection, the kinetic energy of the object
is :

Options:
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Water flows into a large tank with flat
bottom at the rate of 104 m¥ ~ 1. Water
is also leaking out of a hole of area
1 cm? at its bottom. If the height of the
waler in the tank remains steady, then this
height is :

Options:

1 51 cm

5 4 cm

= 2.9 cm

i 1.7 cm
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Three Carnot engines operate in series
between a heat source at a temperature
T, and a heat sink at temperature T, (see
figure). There are two other reservoirs at
temperature T, and T,, as shown, with
T,>7T,>T;>T,. The three engines are
equally efficient if :

T
O
T,
P
—j‘ Eq
T3
) B
Ty
Options:
| 2\ /4 2r \ /5
Ty =) = (TI Ty)
1. ' :

1/ 2 p.
T, =(4T)/2; T = (TIT-z}'B
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T = (T = (rad)

Ty {TET:;}!:L ; Ig = {TIT-‘E)q
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A heat source at T=10" K is connected to
another heat reservoir at T=10% K by a
copper slab which is 1 m thick. Given that
the thermal conductivity of copper is
0.1 WK 'm ! the energy flux through it
in the steady state is :

Options:
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A string of length 1 m and mass 5 g is fixed
al both ends. The tension in the string is
8.0 N. The string is set into vibration using

an external vibrator of frequency 100 Hz.
The separation between successive nodes
on the string is close to :

Options:
1 10.0 em

16.6 cm

20.0 em
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A train moves towards a stationary
observer with speed 34 m/s. The train
sounds a whistle and its [requency
registered by the observeris f;. If the speed
of the train is reduced to 17 m/s, the
frequency registered is f;. If speed of sound
is 340 m/s, then the ratio f, /f, is :

Options:
, 18/17
5 21720

2 20/19

, 19/18
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A parallel plate capacitor is of area
6 cm? and a separation 3 mm. The gap is
filled with three dielectric materials of
equal thickness (see figure) with dielectric
constants K; =10, K5,=12 and K;=14.
The dielectric constant of a material which
when fully inserted in above capacitor,
gives same capacitance would be :

Ko i Ky iﬁTmm

Kq

Options:

1. 36

> 12

14
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Two electric dipoles, A, B with respective
n )
dipole moments dy= -4 qat and
. —3 A
dg= — 2 gaiare placed on the x-axis with
a separation R, as shown in the figure

> [«
& I . #X
A B

The distance from A at which both of them
produce the same potential is :

Options:
2R
! V2 1
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.
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x-2igel (Bl 35 8.
> R
: %
(gadll A 2l 5 stim vt gl Gy R

HAHIA UM o 2R ¢l

Options:
V2R
2 —1
1,
. Ar
3 37
N J2
R
" J2 +
R
V2 -1
4

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct

options ar e chosen.

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

ﬂﬁﬂ@ﬁﬁqﬂqﬁﬂmﬁma,h,c
(a<b<c) F MEATHR FHEN T 50 Te fHara
T & o T W AT A T a2
fﬁﬁﬁiﬁ?ﬁﬁiﬁr{rﬂa}mmﬁﬁ@
T FA fa9a =1 7E 2
Options:

Q ab+ bc+ ca

12re abc
. o

Q(a+ b+ ¢)
—l-'.TE.ﬂ['atzi b2+ c2)

2:

.
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Q
dmegla + b+ ¢)

&

Q[az P b2 )
—l-'sTEn['dH F b3 C?’}

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A charge Q is distributed over three
concentric spherical shells of radii a, b, ¢
(a < b <c ) such that their surface charge
densities are equal to one another.
The total potential at a point at distance r
from their common centre, where r < a,
would be :

Options:
Q ab+ bc+ ca
127eg abc
1.
Q(a+ b+ ¢)

—1-".TE.{}['L’-12 1 }_"'2 1 CE)

Q
dmregla + b + ¢)
" TEQ C

Q[az B cz)
—l"ireﬂ[aj b b C?’)

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

(Ggcoz Q A a, b, c(a<b <c) Bsal 421l
s slrg ol seell v =l A cdaal 2usd
5 5 o2l dudl Y [ydmr vl 215 oflsa
speel MMl . AuAl HWHe Sl ¢ 2R
ztal (G, sl 1 <a, 2090 5o RRAMA ¢l

Options:
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Q ab+ bc+ ca

12re abc
1 0
Q(a+ b+ ¢)
5 —1-".TE.{}['&21 }."'21 ':2)

Q
dmeqgla + b+ ©)
= b B

Q(az F b2+ c2)
—L?TED[E’.[.E b b3y c?'}

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A uniform metallic wire has a resistance
of 18 {) and is bent into an equilateral
triangle. Then, the resistance between any
two vertices of the triangle is :

Options:

1 2 1)

5 1ZE

o 40

4. e

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
oTq % U THEEH qR F AR 18 Q B W
Tl U T Ay s 8| s e+
1S o1 Vitgl & =19 geg il =1 5H 20

Options:

L 20

o T8

z 40

.
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Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
245 18 O Al 2ARIA QR 215 A Al
AR Uil 215wy Bisiel sl 208
5. dl Bsleu siguel o RRIGEYL 922l
HHAeH 2Rl €l

Options:

1 21}

5 1ZE

z 41

4. SLE

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In the given circuit the cells have zero
internal resistance. The currents (in
Amperes) passing through resistance R,
and R, respectively, are :

R;12200 Ry<200
10V 10V
Options:
; 05,0
s T2
5 2,2
4 01

No Option Orientation : Vertical

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number
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et 7 uftuy § Teli 1 SAiafis qfaly =
21wl R, IR, o, T 41T ( Ampere
o) F 9F 2

|
R gzm 0 R,2200
|

fhs =
10V 10V
Options:
; 05,0
"
5 2,2
4 0,1

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
2 Wruanl, [Byastiia g widks werie
9. RUAL Ry 24 R, Hisll adedl et (242
i), 253 gl

10V 10V
Options:
; 05,0
2. 1,2
5 20
4 01

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number - Vae Qinnlal inaNiiactinn Nintinn -
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 .
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A solid metal cube of edge length 2 cm is
moving in a positive y-direction at a
constant speed of 6 m/s. There is a
uniform magnetic field of 0.1 T in the
positive z-direction. The potential
difference between the two faces of the
cube perpendicular to the x-axis, is :

Options:
;1 1mV

3 12 mV

4 2mV

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2 em TR F U M 491G FH A, TACHF
y—ﬂ%ﬁﬁ?ﬂﬁﬁmjsﬁﬁﬁfﬁmﬁ%l
T 0.1 T F1 T=HE & eTF 2599 Hl
famn & Sufted &1 x-31%1 F =G 51 F 9
TeTh] & =19 IYarR 1 5 20
Options:

1 1mV

= 12 mV

4 2 mV

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
2 cm CllsyeAl dettd BsAlL 215 A2 HldHL U,
U y- i 6 m/s svedl 2um 2sudl ald
528, 44 z- [FUML0.1 T ueadl dad »is
Hubll Yesld st uad 5. x- @i dot adl
ert-fl oL el gail 2 RUAMAAL dsiad €2l
Options:

1 1mV .
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3 12 mV

4 2mV

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

wg 2Ales dlddl | detd Al J1olal vl
X = -, =
pe)=p,T sg2ell ol [doyouz unc 8. Gor

(G (x=0) il wz adl @iyl dey
s 2aslln WA wResel suessl 2ud
8. o Holldl n ulberuel WA Hses sadl € dl
Aol Hie w3l eisl s e el

Options:
npl?

m
o ?

wnpl
&

™ 3
—npl
1 P

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

An insulating thin rod of length [ has a

x
linear charge density p(x)=p, 7 on it. The

rod is rotated about an axis passing
through the origin (x=0) and
perpendicular to the rod. If the rod makes
n rotations per second, then the time
averaged magnetic moment of the rod is :

Options:
npl?

.
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z. 3
wnplP
o 1
—np P
4.

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TS | T UF gael U ¥ W EE ey

R p{x}=[}“% ¥ 9 9T = qutag

(x=0) I S Tl 991 DS F =TT UF 374
F UfE: n 999 9fd T ¥ THE 96 €
= T T FfeAH A FrERE AT SR

Options:
npl?

™3
—npl
3 P

wnpl
&

™ 3
—npl
1 P

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A magnet of total magnetic moment

1{]"2? A-m? is placed in a time varying
. at

magnetic field, Bilcoswt) where B=1

Teslaand @=0.125 rad/s. The work done

for reversing the direction of the magnetic
moment at t=1 second, is :

Note: For this question, discrepancy isfound in question/answer. Full Marksis heina awarded to all
candidates.

Options: @collegeduniag
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0.014 ]

—

0.007 ]

P2

5 0.01]

0.028 |

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

N =
1072 i A-m? T=FE A A UF T=F

%1 T % W B (cosof) ¥ HIAR F5ETd

B UF w89 H T@d §1 ¥l B=1

Tesla 91 w=0.125 rad/s Bl t=1s W

=1 A = faen =i faudia = | fn

T T B

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded to all

candidates.
Options:

. 0.014 ]

5 0.007 ]

5 0.01]

2
i 0.028 |

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
i = P 5
1027 A-m? sedl e oasl s e
s Yoisd HYH WA CEAId Yusld #o

Fa
Bilcoswt), sdl B=1 24dl ¥4 w=0.125
rad/s, Wl 45l 209 8. t=1 As=d Yoisly
el B Gazea 1i 539 v s ¢
Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all

candidates.
Options:

0.014 ] )
L collegedunia:



0.007 |

2

5 0.01]
»

, 0.028]

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the magnetic field of a plane
electromagnetic wave is given by (The
speed of light=3 X 10% m/s)

B=100 x 107° sin [h X 2 % 1{]‘5[1 1}]
%, C i
then the maximum electric field associated
with it is :
Options:

, 4x10*N/C

, 6X104N/C

z 3x104N/C

4 45x10*N/C

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
o Midd [Eyaforls diomi doisly &t

B=100 x 107 sin [zw X 2 % m“[t iﬂ
: C

Yorol 2L 2504 Al Al 2B dsnd HedH
[Bg i
(ustatl 264 =3 %108 m/s )

Options:

; 4x10*N/C

, 6x104N/C

= 3x10* N/C

.
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4 45x10*N/C

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

i e 2

I
B=100 x 107° sin [zw % 2 % 1{115{ t iﬂ
; C

T SHF T fa=d & 1 Afaeray 9H &
[FT91 T T =3 < 108 m/s ]

Options:

, 4x10*N/C

, 6X104N/C

z 3x104N/C

4 45x10*N/C

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A plano convex lens of refractive index p,
and focal length f, is kept in contact with
another plano concave lens of refractive
index p, and focal length f,. If the radius
of curvature of their spherical faces is R
each and f, =2f,, then p, and p, are
related as :

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Ay T RIFH f, T & Th GHAeA
T ] AT ., T HEE G f, F T
Huael-SEae o 0 % U T T R
AT 39 Fodsh TMeild Felsh &I Gl 591 R
AW [ =2f, ¥, W, TN ., F T W

Options:

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

wy o2dl aslogdis e f; el 55 doud
qEdl #ls Wda-eileain (plano convex)
de, ., o2l aslMenls i f svedl g dend
el ellst Bdd-2iella (plano concave)
Aeell Aubul Yol 208 6. o d gl olely
AL sl Blscdl R €BL 24 f; =2f, €,
Al g 2y ——— d 2Asellanidl
HsEAL 8.

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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In a Young's double slit experiment with
slit separation 0.1 mm, one observes a

1
bright fringe at angle E rad by using light

of wavelength A,. When the light of

wavelength A, is used a bright fringe is

seen at the same angle in the same set up.

Given that A, and A, are in visible range

(380 nm to 740 nm), their values are :
Options:

L 380 nm, 525 nm

5 625 nm, 500 nm

= 380 nm, 500 nm

j 400 nm, 500 nm

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

s i T fort i o et 3 ot =
_%'fl[].lum'l%, ﬂi’T&‘Bﬁhf %mgm ;—ﬂrad

FI1 I < i 3t St €1 9" S5 9
H A, TS F TS 1 ITEM FG 2 @ I
F01 R & e St o 21 e € 1 A,
41 A, S99 WHW & T0H (380 nm H 740
nniﬂﬂ?)ﬁ%I A1 3% "1 2

Options:

L 380 nm, 525 nm

5 625 nm, 500 nm

3 380 nm, 500 nm

¥ 400 nm, 500 nm

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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0.1 mm &2¢ @2l 423 2ide Yl 4
sl Razl wdbl sedlz A d@didond dziedl
UstalAl Gudlal s2aHl 2ud © ol % rad L
5161 wsURd YelsL sl M 5. sk A,
APdels dusdl MsiAl Guallal sruml e
6 e @il o7 el W usilEid aest wu o
SIOL AL HOL B, ol RS A B A, 2L
f2d HslaL (et (380 nm %l 740 nm yell) L
Al Yo il
Options:

1 380 nm, 525 nm

5 625 nm, 500 nm

=z 380 nm, 500 nm

j 400 nm, 500 nm

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

In an electron microscope, the resolution
that can be achieved is of the order of the
wavelength of electrons used. To resolve
a width of 7.5x10 2 m, the minimum
electron energy required is close to :

Options:

5 25 keV

= 500 keV

, 100 keV

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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TE SoTER GEHET i faHEA awa 39H g
T3 T ToER F aesd F NS FOE
75%10~12 m =1 92k % faieq &g o
1 AT Fll 1 T JE B
Options:

1 1 keV

5 25 keV

= 500 keV

4 100 keV

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

S WHslsial Hoell ustd [eiE4 = qul
quaictt BAsldl ddndendql sud ¢l o,
75x107 12 m | uelousd g2l wea (22l
sddll) Selsgleel szl deyey Glad

Al gl il

Options:

5 25 keV

5 900 keV

4 100 keV

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T AHFHE T (counter) F B HegraE]
B 9 IeAfSIq FHOH FHI TN ST H WIS €
t=0s THT T MOAT 1600 Ffd THUZ a4l
t==8s T IUAT 100 Wid HFUS T Wi TFve
AT F T H (=6 5 T YT T TUME] &
2

Options:

1. 150 .
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5 200

360

400

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

stz 51G-22 (21215) Al ugsall s 2ol 2il2y

Gropuitll Goadsddl 50HL 82 MIvAD 2ud ©.

t=0 #ud d 1600 516-2 uld #Hss A

t=8 Hs~% d 100 5162 uld #s5-5 ¢dl. t=6

dsed soAl ula ds-s (aeEdl) g2
Al A5l Sie

Options:
1 150

5 200

5 360

400
4,

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
Using a nuclear counter the count rate of
emitted particles from a radioactive source
is measured. At t=0 it was 1600 counts
per second and t=8 seconds it was 100
counts per second. The count rate
observed, as counts per second, at t=6
seconds is close to :

Options:
1 150

5 200

5 360

400
4,

.
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Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

To get output ‘1" at R, for the given logic
gate circuit the input values must be :

X e—3—f>0 (R
il ,x')_
o P
Y | — | :,xi
Q F
5
;-J: B /._U—
Options:
i X=0, Y=0
5 =0,¥=1
vy BTN
- Xk, ¥

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
R W fid wF ‘1" & faa o7 & wifas 12
aftay ¥, FEw &1 °9E 2A =ity

e e II >_

Py
Yo | I H::‘s: R
- Q I_.'-__d_.--"
A ”‘-:.—
e
Options:
i Xx=0.X¥=0
5 K=0,%=1
o X=T1,.%=1
. NE=T, ¥

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 @collegeduniag
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wdd dilsrs o2 wbvz we, R 210 ‘1" w9 o

2 By Y sddl o/

Xe 1> Vil S

P

Y o4 | e

Q L

L

Options:

. X=0,Y¥=0

5 X=0,¥=1

o RT 0

o BT X1

R

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A TV transmission tower has a height of
140 m and the height of the receiving
antenna is 40 m. What is the maximum
distance upto which signals can be
broadcasted from this tower in LOS(Line
of Sight) mode ? (Given : radius of earth
=6.4 x 10° m).

Options:
1 40 km

2.3{]km

3_65}:1“

48 km

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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TH TV H900 HAR F 59% 140 m a4
AR T F SEE 40m 1 THEAR A
ghe T fa=n (LOS) d o sAfusaq gl
7 e v F aFa £ 2 (fea & gt
H FE=64%10° m)

Options:

> 80 km

3.65}1111

4 48 km

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

wis Zlell zielad (Mauzel) eda-l Glaud
140 m 2=+ RRE2 (ugwl) =il Glud
40m &. ol @i 2R ur 4l g~ (Line of
Sight) 2i=p2dl 526l Heriy #ick Yl Biran
il 53 2s? (yeellHl Bsa =6.4 %106
m 21U .)

Options:

5 80 km

3.65km

4 48 km

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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A potentiometer wire AB having length L
and resistance 12 r is joined to a cell D of
emf £ and internal resistance r. A cell C
having emf /2 and internal resistance 3r
is connected. The length AJ at which the
galvanometer as shown in fig. shows no
deflection is :

D s&r

+ I I_

=2
]
jiil
@)
an
=

T |
C| e
£
Er 3
Options:
B,
1 24
LR
5 12
n
3 24
Ly
4, 12

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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L deiddl 2id 12 r «l 29218 43dl 218
izee(lidfle diz AB 2 & %/2¢ emf 21 r
se2dl 2lidRs 2R A3l S D MR sdsclMl

W . 5/2 o/2d emf 2 3r o/2dl 2dRs

VI YA 51 C A 24(dul saicn Yo
sdsellHl 2l 5. dled-idlerdl suldd, -y

wildd wedl dend A

D gr
=
|I

At j

+
a2

L

~

i

PGS

haen

Options:
13
5k L
1. 24

23
s 12

i

z 24

8l

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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L o= 991 Jfae 12 r & U@ [Fyaemd an
AB &I faa.9a ¢ 991 AR Ifadd r i
UF A D § Wied g1 faaae e/2 a9
SR Wiaa 3r. 9 U 5a C & fe@d
T4 faaEr Sirzd 81 9% @=E A, foes

73 TresmmrdT | =15 fa29 & e g, 201
D gr
=
& l
Am ) B
I. —
=I—©
£
2;3r
Options:
15,
1 24
Iy
= 12
1y
z 24
B
4. 12

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A 2 W carbon resistor is color coded with
green, black, red and brown respectively.
The maximum current which can be
passed through this resistor is :

Options:
1 04 mA

, 20 mA

2 63 mA

i 100 mA

.
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Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

oW F UF FEA 90T ) FEAW: B, F,
e a9 X T H Her wie o g
Ay 9 & T oY ¥ 98 TFdl g
Uil
Options:

1 0.4 mA

5 20 mA

2 63 mA

3 100 mA

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

w5 2W L slolA 2eRiE Uz 2iqs4 dla, s,
el @ oG (s21d) oL 9Bl Aisd B, =4
Rl YR 531 2stAl M HellE
Options:

1 0.4 mA
"

o 20 mA

= 63 mA

@ 100 mA
Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Pane:

Group All Questions:

Chermistry

416529137
2

Online
Mandatory
30

30

120

Yes

No
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Sub-Section Number: 1
Sub-Section 1d: 416529146
Question Shuffling Allowed : Yes

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct structure of product ‘P in the
following reaction is :

Asn —Ser + (CH,C0),0  NEs_, p

(excess) ~
Options:
_OCOCH,
0 H ;
PN N
Hat H 0 i NH,
O
1
2
~LNH
2
i | H
> N
it r ®)
H,C N O j H
OCOCH,
2
OCOCH,
b . H 0
L TR N N
H,C ' [ “OH
4 H O __NHCOCH,
i} :
0
3
P
_—=NHCOCH
: 30
jﬂ e 111 "’L"DH
- b o o T
H< N7 T ki
‘ H “-0CoCH,
4

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=1 safufen 3 3o P =1 98 9= g
Asn—Ser + (CH,C0),0 NEt_, p
(=TTa=)

Options: @collegeduniag
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O H
P N
:,f N N “0OH
H,yC H 0 ___~NH,
1
O
1.
o NH,
i H
H,C H 0 L
~OCOCH,
b2
_OCOCH,
(HJ , H 8
S LI e W &
H.C 4 [ OH
3 H O \___~NHCOCH,
y .
Q0
3.
't
ANHCOCH
- 30
(J:l}-‘. f-II\_.jI "’L“DH
™ i o
H,C ‘N7 X |
H ) e
0COCH,
4,

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Al bl wadl sy P W vlarel
2ipdl 7

Asn —Ser + (CHBCO}EU NEt, , P

(HE4 Ul
Options:
_OCOCH,
O H
H,C H 0 ‘. _—~NH,

m
O

1.

.
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=0

“OH

i e
—~NHCOCH;

I

~>"N"y" "OH

1
A~ NH
2
i | H
< "™ 1l ™
H,C s 0
2.
JOCOCH,
¢ . H
A N
ae N7 &
5
O
0
,f'JL‘x H
H,C N o
4.

T0COCH,

~NHCOCH,

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The major product formed in the reaction

given below will be :

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all

F P, g KENO)
S Aq. HCl, 0—5°C
candidates.
Options:

[*”’“’“I"“}.-.Noz
T e =4

-

.
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Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A= & T AR H A9 Jen 3 308
T :

e

- "'“'w-.-f""‘\\j /,NHQ Nal TDQ

. I S 4

e Ag. HCl, 0—5°C

[

Note: For this question, discrepancy isfound in question/answer. Full Marks is being awarded to all
candidates.
Options:

I

. -~

s

PSa

R ‘_/NDZ
2 i TP g, TR

o OH
T

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al2 2l ulsil wodl o Alusr 58 ¢1l?

- "'-”"“‘>_/NH2 NaNO,
i il Aq. HCl, 0—5°C

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.
Options:

.
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India’s largest Student Review Platform



Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
H 2 I T2 FA T,
{ Y—cooc,n;

j —

I

Options:

1 OI>1M>IvV=>1

, I>M>1>1V
; M>N>1>1V

4, V>0>M>1

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number @ 13-
No Option Orientation : Vertical EOl"geetng!L:wI:I"am



Correct Marks: 4 WrongMarks: 1

Al Bidl wizead dbs snledoisr s3aL M2
Yool uadiAl Gaadisy™l 2L

@ COOC,H;

I
1
DENQCDDCZHE

111

CH,0 @mac:znﬁ

IV
Options:

) N=>M>1vV=>1

, O>M>1>1V
5 M>M>1>1V

4 W>I>M>1

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The decreasing order of ease of alkaline
hydrolysis for the following esters is

7N :
¢ N-cooc,H;
"l" ; o
I

7N,
a— H-coocH;
I
7\
oN~  H-CooC,H;
11

e

o/ N-coocu.
v

Options:

1 N>m>1IvV=>1

.
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5 O>M>1>1V
5 M>M>1>1V

4, W>I>M>1

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which dicarboxylic acid in presence of a
dehydrating agent is least reactive to give
an anhydride ?

Options:
O
Jl"'\"m.
ﬁng'(-‘UH
CHy___-OH
I
1 O
, > “COOH
CH,
CHE COOH
COOH
CH,
cn,
3

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
= 5 1 1 =EHElaies T Hecisns
i 3affq H U URIEelse o & foe 9ad
w1 Afafwasia 22



..-""JI;"'\"MH.
tlgH?_"' C“on
c.th_H%_x OH
. o)
ﬁ-:a----.ﬂ.h[cmﬁ
, S~ “COOH
CH,
CHE COOH
COOH
CH,
ch,
=4
~__.CO,H
\ ~*%CO,H
4. &

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sul stusollsudls «ils Rerdlszel sisme-l
oAl PSB85 vl W2 sl s)

ul5 wal?
Options:
0
.--""JI;'-""*-\-..
clez"' C“on
LHEE_HC_E OH
Il
1 QO
. ==~ “COOH

.
@collegedunlaé
India’s largest Student Review Platform



CHE COOH
COOH
CH,
“cn,
=,
. «CO,H
" "CO,H
4. :

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product ‘X’ formed in the
following reaction is :

0

I
. _a I,—C—0CH,
A e " NaBH,

MeOH

Options:

0
O i
I _CH,—C-H
S

H
? _CH,CH,OH
S

e

=

i
3
O
OH I
[”' /LH"T _CH,—C—0CH,
5

OH
I _CH,CH,0H

.
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e eafuferan 5 s e 5 X R

O
O I
_n CHy—C—0CH,
- " NaBH,
—_—
MeOH
Options:
S
M _CH,—-C-H
- -

OH
I _CH,CH,0H
o

w»

=

2.
O
OH Il
5 /L-m__‘,__f' CH,—-C—0CH,
= “"m.‘”.:f'd'-:a
OH
~ Jw-j,.f-CHzCHzDI'I
.

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Al ulsl ottedl v sy X 2liel.

Q
O I
Il ~AH,—C—0CH,
' r " NaBH,
e S & x
MeOH

Options:

.
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0
Q I
I _CH,~C-H

OH
1 _CH,CH,OH

2.
O
OH Il
r ,JH‘ _CH,—C—-0CH,
=

_CH,CH,0H

o

OH
i L

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The increasing order of the pKa values of
the following compounds is :

CH OH
NO, Olde
A B C D
Options:
D<A<C<B

iz

- B<C<A<D
; C<B<A<D

4 B<C<D<A

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

: Yes Single Line Question Option :

.
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71 T F pKa 1 Sl g1 3 2,

H OH

L o
__...-"-H...;-_\_\_}‘ :_|_.-' --..\_~‘-_..:
[L’.:-:::: “w[:f-':‘;'
NO,

A B
Options:
D<A<C<B

Lz

- B<C<A<D
; C<B<A<D

4 B<C<D<A

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Al 2 dllvaddl pKa Hesddl 2zdl 53

alledl .

OH

A
J\__x_; .
N02

J.lﬁi. B
Options:
D<A<C<B

s

5 B<C<A<D
;, C<B<A<D

4, B<C<D<A

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The‘maj::rr product of the following reaction

15 :
CHLO_ o~
N i-r"” >~ SCH,C
g 3 (i) AICL, (anhyd )
(i) H,0 ’
Options:
[
CHO, ./
) *lg,.xJ
OCH,
LG CH
7 T L W 3
x}"'.:':-y_.-' 3 ﬂ"""‘w.._,-"'-’-.-
2,
CHO -~ ~_
CI L
T %
3

A
ek T cH,

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=1 srfafern =1 g8 30 2

CH,0 SN e"ﬁ““v*/J\“Cchl
E,H (i) ALCL, (Frsfer)

o
o

Options:

R ot )
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a:}‘_.:_:‘f 2 .\_H..f_’,r
2
CHO, .~
L ,,P-LK"-.-
e \,
=

C}%thfm[,/\
N
c il ok

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Aol sl wieedl o dlver 58 7

5 - 1 o RN L
BN e TS )

(i) [edellu AlCL,
(il) H,O )

Options:

.
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CHHD .. SN
Lﬂ::_,f-""'l[‘a«“--fLCH
ety

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which hydrogen in compound (E} is easily
replaceable during bromination reactionin
presence of light ?

CI‘13 5 CHE —CH= CHE
o ¥ 6] ot
(E)
Options:
] a- hydrogen

{3 - hydrogen

Py
g e hydrogen
¥ o - hydrogen

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT (E) § W9 &1 Surefa § sEEeeE
AT o == i BIgere ST H fawenfa
o = Tepe © 7
CH,;—CH,—CH=CH,
& ¥ B V]
(E)
Options:
1 o - BIGSISH

> B- RTESIS

.
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Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ustalAl el diddlor (E) Hizdl el uls
EloaiA sl e glor-t el Fralid 227

CHy—CH,—CH=CH,
i

Yy B o«
(E)
Options:
;@ lEslor
o P- sl

o Y- S8gler

4, 8- A

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction

1S :
B.‘L’--HH i
| KOH alc (excess)
e SN :
Ph [ A
Br
Options:
".-':'-;:;H“m
Ph S
i
| (—_—
Ph-"" S S
Z
"
Ph N
=

.
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e sAfufsrn 1 927 3ee 2
Brh .-'"f%.h““-h..
by \‘ KOH alc (3féraa #)
Fh “~-Te-' A >
Br
Options:
':a'::‘.;':i:wq-hL Y
Ph" S
i
Flh . "““4-'-‘.“\-_::_#__,* T J’____.‘
2.
S
>,
IJh..,e--’“hx:::-"f’ Tl
4,

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

@Al Ul 3o Alusy 597

Br ~ A
N KOH alc {qg%&h}
1 ‘[ A
Br
Options:

.
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Ph i -‘""‘-\."‘\H » <l
i
Ph'f&bﬁb"’*%ﬂa._.f"‘
z.
Ph
3.
[Jh_.x-"“aﬁ..}._f;”mﬁ____.;;;. S~
4,

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If dichloromethane (DCM) and walter
(H,O) are used for differential extraction,
which one of the following statements is
correct ?

Options:

DCM and H,O would stay as upper

and lower layer respectively in the

separating funnel (S.F.)

DCM and HED would stay as lower
and upper layer respectively in the
> S.F.

DCM and H,O will make turbid/
- colloidal mixture

DCM and HZD will be miscible

4 clearly

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Afe 2EEFHeT (DCM) 491 51l (H,0) =
e TreRau | WA fan = & o e |
T i I HY a7
Options:

DCM a1 H,O J4FFil el H HH9:
. FHT A9 e 9 § w6

DCM 41 H,O JY=FR] Fel H A
o Tt aon == wael | v
DCM 91 H,0 U% rfael/Hlengs!

o T =7

DCM 791 H,O =7% w9 4 fHauitg 2
i 2

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
o ssdlRYEA (DCM) 24 well (H,0)-l
Guspt [Fsd sl (differential extraction) sl
vl 2 dl, Al 45l 5y s e wy
831

Options:

[Brtsil 21l sl DCM 24 H,O o 2R
| s G et Alel 2eal

(sl 212l DCM 24+ H,O o 3R
wiefsH 2 2 Gluz 2l

DCM i+ H,O « Bz séloy/sadl
5 eral

DCM 2 H,O #iyel [Maelly 2l

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The electronegativity of aluminium is

similar to: .
_ gcollegedunlaé
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Lithium

=

Carbon
Beryllium

Boron

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AR i fagd B 1§ 9 e
TAEaEE

Options:

R

p, oI

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
wleyfaaedl Beseidn siHl W 97

Options:

. BEOE

5 5141

. N TR

. W
4 HlziA

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Hall-Heroult’s process is given by :

Options: .
collegedunia:
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1 Cu?*(aq) + Hy(g) »Cu(s) + 2H ' (aq)
2 ALO;+3C > 4 Al+3CO,
ZnO+C Cokel673K _ 7n +CO

Cr,0; +2 Al »ALO, +2 Cr

=4 -

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FE-2iee WA = fFaes g fean s ?
Options:

, Cu®*(aq)+Hy(g) »Cu(s) +2H" (aq)

, 2AL0;+3C >4 Al+3C0;

. ZnO+C_ ¥, 163K _ 7n+CO

Cr,0,+2 Al »ALO, +2 Cr

-

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Sle-galee wsd Al sy &)
Options:
, Cu®*(aq) + Hy(g) »Cu(s) +2H" (aq)

2 ALO;+3C >4 Al+3CO,

2

, ZnO- C Cokel673K_ 7n +CO
Cr,0,+2 Al »ALO, +2 Cr

i OB 20

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The chemical nature of hydrogen peroxide
is : @collegedunlag



Options:

Oxidising agent in acidic medium,
1 but not in basic medium.

Reducing agent in basic medium, but
5 not in acidic medium.

Oxidising and reducing agent in
acidic medium, but not in basic
2 medium.

Oxdadising and reducing agentin both
acidic and basic medium.

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TSI WSS & THEHE 5 2 :
Options:

STATE "1 | SUEEE & B9 °, T
| e e

I H1eq § =TS & B9 H, T
o A A H A

A W § STEEE 99 JTEEE
F w9 H, W g 9 § T8

STEEATE 991 W S JEE H 3T9ES
AL STT=TEF F B9 H

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
elBglerd URlsHIBSAL 2 BLs 2aoue s4l 89
Options:
wfetdls weapr Al 5ol wiq els
L el

eilos edsaL Zlssunsdl, wiq «illss

o ML Al
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wi[3gls HIeyyHL 2533 sal 2
Rostirsdl W el wedma Adl

wifilss wd ollns old ey
AR AsAL 2 [Rosa1-sll,

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The total number of isotopes of hydrogen
and number of radioactive isotopes among,
them, respectively, are :

Options:
1 2and1

> 3and]l

S_Eandﬂ

" 3and 2

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Options:
2991

5 3dal

5 270

32
4,

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

L Gler-l 5 MHR2UL 2 AL Breliose(l

W25l s 8

Options: .
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2 2 0

]

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The metal used for making X-ray tube
window is:

Options:
1 Mg

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
X-ToTor el & FaEd #1949 & o 9gaw
I :

Options:
1 Mg

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
#-[5201 Al edl esel vl A 597

Options:

.
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> Ca
= MNa
4 Be

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The type of hybridisation and number of
lone pair(s) of electrons of Xe in XeOF,,
respectively, are :

Options:

. Sp3d and 1
sp’dand 2
sp’d®and 1

a5 sp>d® and 2

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

XeOF, # Xe & Hah{v a9l UHish! Tetagi= ZrH
=T WA FHEI: €
Options:

sp’d 741 1

3
5 SP d 941 2

312
5 sp’d= T4l 1

j 5-1133::12 oHr 2

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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XeOF, Ul Xe «f 2520l 24 2515l 9eszid 4™
(L) «ll 2va 259

Options:

i sp3d w1

sp3d e 2
5p3d3 i 1

5p3 dZ A 2

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The effect of lanthanoid contraction in the
lanthanoid series of elements by and large

Mmeans ;
Options:

decrease in both atomic and ionic
radii

increase in atomic radii and decrease
in ionic radii

decrease in alomic radii and increase
in ionic radii

i

increase in both atomic and ionic
radii

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Tl F oFUAEE HEe § oRAEe e
A1 ST 2

Options:

I T SR e G e

A S F AeT a9 AEEE

o e =1 92

.
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e

. A A A e 2/t 1 e

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ar2rA19S ceetidl Selll drsiugs st 2ee-l
Hlzl ML 2l 248 =AM 87

Options:

. Yo, i, 2l el i sLel

yrrileay Beaml qaml 24 =ualaa
5 [Fsauul szisl
wrleay Eeanl gzisl @i 2uadl
. Glecarmi ezt

ey 2 2yl B el gaEL
4.

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Wilkinson catalyst is :
Options:

[{PhEP}HRhCI] (Et= CEHS:]

1
 [(EtyP;RACY]
5 [(Ph,P),IrC1]
[(EtzP)5IrCl]

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ERIER: B LC -

Options: .
collegedunia:
India’s largest Student Review Platform



~ [(PhyP);RRCI]  (Et=C,Hy)

1
. [(E;P)3RAC]
. [(PhyP)IrCl]

4 (EGP)IC]

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[Aeflm Gelus Alz-umisl 54l 7

Options:

L [(PhyP),RhCl]  (Et=C,Hg)

o [(E;P)3RAC]

. [(PhyP)IrCI]

, [(EGP)ICY

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The total number of isomers for a square

planar complex [M(F){CI)(SCN)(NO,)] is :

Options:
1 4

16

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

a1 HHTe "HE [M(F)(CI)(SCN)(NO,)] +
i Pl (oEEdl) W = e
i



16

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

2LddL [M(F)(CI)(SCN)(NO,)] uuddly
Al Hslobil 5d sedl Muuzsl 5]

Options:
1 4

16

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Water filled in two glasses A and B have

BOD values of 10 and 20, respectively. The

correct statement regarding them, is :
Options:

! B is more polluted than A.

5 A is more polluted than B.

A is suitable for drinking, whereas B

= 15 not.

Both A and B are suitable for
drinking.

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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21 FIAMl A 991 B, § W gU 9FT % BOD &1
o9 HHI: 10 991 20 21 TE HYA FI
WﬁﬂTﬁﬁ:

Options:

, B, A goF ¥ e wgf €

, A, B I o1 § <11 e 7

AT ¥ foau 39g=a & 94fF B 7@ 2

i

AT B, <1 21 9 F o Sugea ¥

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

of vl A @il B ol el sirg 8. el
e 2A5er a3z (BOD) [Bud
A5 H 10 24420 8. Wy B 2l 7
Options:
; BAA s oy Mg B,

o, A 2B sl 44 UM ©.

5 Al 4 8, sz B A3l

i A i B vt el 1oy 8,

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A mixture of 100 m mol of Ca(OH), and 2 g
of sodium sulphate was dissolved in water
and the volume was made up to 100 mL.
The mass of calcium sulphate formed and

the concentration of OH ™~ in resulting
solution, respectively, are : (Molar mass of
Ca(OH),, I“tI'al_g._S\!.':fl}1 and CaS0, are 74, 143
and136 g mol 7, rgspectivel}r ¥ Kap of
Ca(OH), is 5.5>10 %)

Options:
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1 13.6g,0.28 mol L !

5 19g 014mol L~

- 13.6g,0.14 mol L :

& 19g 028 mol L1

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

100 m mol Ca(OH), @412 g Hifzaq Aehe
T UF A9 H G H AR I AT
100 mL & Tz 7 | = gu faera § FHiewem
HERS F ZHA a9 OH -~ &1 Hr5dl w39
2, (Ca(OH),, Na,SO, @41 CaSO, ¥ Her
TFEME T FEI: 74, 143 741 136 g mol ~ 1;
Ca(OH), F1 K,,=5.5x10 5)
Options:

; 136g,028molL"?

5 19g 014mol L™

5 136g,0.14 mol L !

0 19g 028 mol L1

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

100 m mol Ca(OH), wie 2 g Ailsum ueged
Gaa 531, welll =il vddl gt se
100 mL ¥l @8 srepil wue,  gleel vl
51 Uebed e o Wkl gl OH -l
Higrll 2453 2] €l)

(Ca(OH),, Na SO, @i CaSO, il 2u(E4x £l
253 74, 143 24 136 g mol ! 8, Ca(OH),
Al gl 2JRUsiR Ky, =5.5x1079).

Options:

1 13.6g,0.28 mol L !
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1.9 g, 0.14 mol L 1

2.
5 136g,0.14 mol L™ !
0 19g 028 mol L1

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which premitive unit cellhas unequal edge
Ir_-ngths'{a 2b#c)and all axial angles
different from 9(0° ?

Options:
1 Tetragonal

5 Hexagonal

Monoclinic

Triclinic

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T A9 Uehe: FiltSaH H THHHE 1 A=
.{a-‘.t!'_'l#—{_‘} 2l & T |t it wm 90° |
o 2 €7

Options:

i Teager=ne

il ]

&,

o WehTdle

[EEGIE
4
Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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sl 2UEH 2sH SIHHL 2 4R deld
(a#b=c) i oal wigld vyeuil 90° 4l G-t
S 87

Options:

. 22PlHA

, Sl

Uil fsalns

=

. a8 bals

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the graphs shown below does not
represent the relationship between incident
light and the electron ejected from metal

surface ?
Options:
K.E. of i
s T //
/
0 — energy of
; Light
K.E. of
€5 I
0 .
— Intensity of
Light
=

.
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K.E. of ¥
s 4
o
1|~
-~
0 .
— Frequency of
5 Light
number
of €s
0
— Frequency of
Light
4

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e Wafei W § | FE-H SAad W 79
91 = o Feifad soiee[ & =99 #1954
e &0 4 el Al e ?

Options:
E:;S Eﬁ /‘j
Ifast /f
Il T frd
i
0 _ , yerd
y Tt
E.'E-"s
rfere
Tt T
0
— s UHTI H
> el
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et Fa
el { : Pt
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A Tl
5 g
&5 ol
AT
0 —_— Wﬂﬁ
, angfa

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AliAl 2l 54l 2udv 2l wseL @
tterdl Al wdlall Gostord udl Sdszid 4zl
Aoy gauadl —=l?

Options:

s | g :
P4
a[as /
ol ||/

il
0, sl Gled

€'s «l|
aldis
W

Gled

—» uslaiAl dladl
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Two pi and half sigma bonds are present
in:

Options:

N
1 2

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

21 9TE a1 e fae aEe e g

Ifeea ¥ 7
Options:
0,
1 2
2 N2
O,
= =

.
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al suml o W 2 2asel oW efal
2¢el 857

Options:

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A process has AH=200 Jmol I'and

AS=40 JK !mol~l. Qut of the values

given below, choose the minimum
temperature above which the process will

be SPDI‘ltH.ﬁE‘DlIS :

Options:
; 12K

> BK

3.2{]](

4 K
4,

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TF 9FY H AH=200 Jmol ! a1
AS=40JK~tmol -1 &1 =1 fadr 73 =i §
H 3G =9 a9 w1 9 S S EE IR
T =4 B ;



12K

3

4 K

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

w5 Msumi AH=200 Jmol ! =i+
AS=40TK " 1mol =15, -2 2dl Budl Usl
518 DUSIHL 24 MM YHE 53 5 s/l Glwr
uls 2eioq 231

Options:

1

12K

4 K

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Liquids A and B form an ideal solution in
the entire composition range. At350K, the
vapor pressures of pure A and pure B are
7 %107 Paand 12 % 10° Pa, respectively. The
composition of the vapor in equilibrium
with a solution containing 40 mole percent

of A at this temperature is :

Options:
i Xy =0.76; Xp= 0.24

2,

3.

xﬁ={].4 ;xB=D.6

7% =3 szﬁl.ﬁG
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) Xa =0.28 ; Xp= 0.72

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Z9 A 991 B Y W92 F WH H UF e
faerad 9 rd §1 350 K WY& A & 91 E
41 T B 1 9 == FHAM: 7 % 10° Pa T
12 10% Pa | 59 A9 9, 39 =919 &1 92
T B S A o 40 Hre gfave faerg & ang
HE:

Options:

i xﬁ={].}’6:xﬂ={124

5 xA=D.4 ;xE={].6

- Xy ={).37 1 xB=ﬂ.53

. Xy =0.28; Xp= 0.72

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Uil A 24 B AL [Bauon Bell- dilerl 2zl
LBl el 5. 350 K cludiA g A 24 g
B il GAESAISL 24453 7 x 10° Pa 24412 % 10°
Pa ©. sd @A cltwid ueidl A Al 40 g 2siail
BRI, ISl AU Holdd 2eEaeHl ¢, dl
siisye] lezeL 2liEl 7

Options:

i xﬂzﬂ.?ﬁ s xB={124

5 _IA:{].'—?: ;xB={].6

= Xy ={L37; :fBzi',I.ﬁG

. Xa =028 : Xp= (.72

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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The values of K,/K_ for the following
reactions at 300 K are, respectively :
(At300 K, RT=24.62 dm’atm mol ')

Na(g) + Oa(g) =2 NO(g)
N04(g) = 2NO; (g)

Nj(g) + 3 Hy(g) =2 NHy (g)
Options:

1, 24.62 dm’atm mol ",
606.0 dm®atm? mol ~ 2

1.
24 62 dm atm mol ~ 1,
606.0 dm®atm?® mol ~ 2,
5 1.65> 10 2 dm %atm — 2 mol2

1, 24.62 dm’atm mol " !,
1.65> 10 ¥ dm  ®atm 2 mol*

1,41 %10 2dm Zatm ! mol,

4 606 dmPatm? mol 2

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
300 K W, T stfufpaneti & faw K /K *
TH FHF: B 2 (300 KT RT =24.62 dmPatm
mol 1)
Na(g) + Oq(g) =2 NO(g)
N,O4(g) = 2NO,(g)

Na(g) + 3 Ha(g) =2 NHs (g)

Options:
1, 24.62 dm®atm mol !,
606.0 dm®atm® mol 2

1.
24.62 dm”atm mol ~ 1,
606.0 dm®atm? mol ~ 2,

, 165x1073dm™ batm ™ > mol*
1, 24.62 dm’atm mol " !,

5 1.65 210 ? dm ~ %atm 2 mol*
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1,41 %10 2dm Zatm ! mol,

4 606 dmPatm?® mol =

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
300K AR e K /K AL Bl 254
2Uel 7
(300 K #l, RT=24.62 dm>atm mol 1)
Na(g) + Oa(g) =2 NO(g)

N5O4(g) = 2 NO» (g)

Nj(g) + 3 Hy(g) = 2 NHa(g)
Options:

1, 24.62 dm®atm mol !,
606.0 dm®atm? mol ~ 2

1.
24,62 dm~atm mol ~ 1,
606.0 dmPatm® mol ~ 2,

, 165x1073dm™ batm ™ > mol*
1, 24.62 dmatm r_nol L

5 1.65x 10 "3 dm~ ®atm ~ 2 mol®

1,4.1x10" 2dm 3atm ! mol,

4 606 dmPatm® mol =

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correc_:t Marks: 4 Wrong Marks: 1

Consider the following reduction
processes :

Zrnet +2e~ > Zn(s); E®= -076 V

Ca?* +2e~— Ca(s), F°=—-287V

Mg2* +2e~ > Mg(s); E°= -236 V

NiZ* +2e~ - Ni(s); E°= -0.25V

The reducing power of the metals increases
in the order :

Options:
y Ca<Zn<Mg<Ni
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, Ca<Mg<Zn<Ni
., Ni<Zn<Mg<Ca

i Zn<Mg<Ni<Ca

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

4 19=a weRHl T e S

Znet +2e” > Zn(s); E®=-0.76 V

Ca2* +2e~ — Ca(s); E°= - 287V

Mg2* +2e~ > Mg(s); E°= -236 V

Ni2*+ +2e~ > Ni(s); E°= —0.25 V

YA T ATATF T 59 FH H T

Options:
1 Ca<Zn<Mg<Ni

, Ca<Mg<Zn<Ni
., Ni<Zn<Mg<Ca

. Zn<Mg<Ni<Ca

Sg%:ft?ohllé)r?ibe;rt;lt?gn?uveesrti%;;rype: MCQ Option Shuffling: Yes Display Question Number : Yes Single Line Question Option :
Correct Marks: 4 Wrong Marks: 1

A2l o5t Wl el al

Zret +2e~ > Zn(s); E°=-0.76 V

Ca?* +2e~ — Ca(s), B°=-287V

MgZ+ +2e~ > Mg(s); E°= -236 V

Ni2* 4 2e = Ni(s); E°= —0.25 V

el Resunsdl ulsadAl 2@l 53

Options:
y Ca<Zn<Mg<Ni

, Ca<Mg<Zn<Ni

., Ni<Zn<Mg<Ca

.
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number

n<Mg<Ni<Ca

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

@)

1.

3

Consider the given plots for a reaction
obeying Arrhenius equation
(0°C < T < 300°C) : (k and E, are rate
constant and activation energy,
respectively )

v
L 3

Choose the correct option :

ptions:
Both [ and 11 are correct

Both I and II are wrong

[ is right but II is wrong

[ is wrong but II is right

4.

: Yes Single Line Question Option :

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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AT I &1 " Fe U At
% ot el W fa=m &ifa (0°C < T < 300°C),
(k @41 E, %99 =X fadie 991 90 S

, T 1S e €
[ 1 11 SF1 7Tead &

< I 9El & 9 11 7o &

, [ et & w11 Hel &

?)
\
k| k /
k5
\&H_h_ s
Ea ' TCC)
I Il
el faswes 9 -
Options:

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

2L 2e{lsren w4 s 215 WAL
il 12 2dal 8 (0°C < T < 300°C)

(k2 E, 2453 ulsat Aot 24 Aslsret alsa

K-H""\-u_
Ea ] rccy
1 I1

il [Esey 2l
Options:
1 el T1 Gl 1L 5.
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5 T2 T et Wil 8.,

5 1 MR £ el 1T vl 8.

n MERRERIRTO R

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following is not an example
of heterogeneous catalytic reaction ?
Options:

i Haber's process

5 Combustion of coal

= Hydrogenatoin of vegetable oils

4 Ostwald’s process

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
= & 9 = fauaet sersg afufemEn =
e TR 7

Options:

Raiecn

1

el H TE

P

- FAEFA dA = BTSSR

i SR=aeE WhH

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A2zl 58 Bl Gelusly ubud Gasel
27
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Sl Bee
crtuld dad edglor-lsel

. wpjaeql=seil Wl

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Mathermatics

416529138
3

Online
Mandatory
30

30

120

Yes

No

1
416529147
Yes

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

In aclass of 140 students numbered 1 to 140,
all even numbered students opted
Mathematics course, those whose number
is divisible by 3 opted Physics course and
those whose number is divisible by 5 opted
Chemistry course. Then the number of
students who did not opt for any of the
three courses is :

Options:
T |
5 102
2.

4. 42

.
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

140 Taenfofai, for 91w 19 1408, =1 1%
THeql § A 1 FHF o [Fnrgd] 1 e T
= ¥, 32 o #a 3§ fawfad 2a 2
“Jiferer o foe =1 @ oo 32 T wia
5 4 fawifam 2 €, W@ s faug =71 2
a1 = faenfeiai = de=n, e e da ¥ 4

Options:
1: A

5 102

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

140 [clzuzil=tiqL =i5 @eiul Feunadliq 1 9l 140
sHIs 2UNAL B, el o 3o sHIA (Sl
Bict [ wzds 52 8. sl 5345 3 4 [Eous
Gl et Bensil olifdssuest By dan sl
5U15 545 [Eets ¢ aan Banel=0 e
[ wade 52 o, dl = ezl 519 wer By
Yodg o sl L el [FeneBaAl s v

.

Options:
1 A

5 102

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Let z; and z, be any two non-zero complex
numbers such that 3|z,|=4]z,]|.

3z 2z
271 1272 then:
222 32]

It =

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded to all
candidates.

Options:
1 Im(z)=0
o Re(z)=0
1 [17
=1 =2\7
=3
5
1zl =45
4.

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT 2, T4 7, FIE &1 YT AHS HEAW 59
gFR & & 3|z,| =4|z,|]. 3fg

. _32-[ |222 ﬁT

222 32.1

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:
) Im(z)=0
o Re(z)=0
17
1Zl=3V7
=t "‘J =
]
1zl =43
4.

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number - **
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 @Co"egedunia5
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QRL Sz 2z, @ 518 2Adl o YR Ws?
Hudidl 8 5 o2l 3|z, | =4z, | A o

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all

3 2 - -
z=221 1222 gy Al
2z 3z
candidates.
Options:
1 Im(z)=0
o Re(z)=0
2] 1 17
7 ==y
~
. 2V 2
e
|Z'|_ 2
4.

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Consider the quadratic equation
(c—5)x2—2cx +(c—4)=0,c+5. LetSbe the
setof all integral values of ¢ for which one
root of the equation lies in the interval
(0, 2) and its other root lies in the interval
(2,3). Then the number of elements in Sis :

Options:
L 18

5 12

- 11

10
4.

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Toamed™ FHEAW (c—5)a2 —2cx + (c—4) =0,
c+5 W fF9R Ffaw| AF1 S, ¢ F A T+
ot |, T fo g =1 v g9
Hewe (0,2) § € 99 SHFE g TH A
(2,3) § % 1 Hg=G &, @ S F AGT4l &l
TE T

Options:

L 18

e

- 11

10
4.

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

[geuct als2el (o — 52— 2cx +(c —4) =0,c%5
Al [BR 53 wrl s St el 2l yells Gudl-l
el e 5 sp2l Wallszeld s oller (0, 2) 2idriaul
219 A2l de olls elsr (2, 3) 2idiawi 2L dl
S AL a5l Hva 8.

Options:

L 18

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Let deR, and
2 4+d (sinf)—2
A= (sinB)+2 d

I
5 (2sin®)-d (—sin6)+2+2d|

Be[0, 2rr]. If the minimum value of det{A)

is 8, then a value of d is:

.
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Options:

p 79

, 2(\2+2)

3. =4

. 'z(«.E 1)

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HHAET deR A0

2 4+d (sinf)-2
A=| 1 (sin®)+2 d

5 (2sinB)~d (—sint)+2+2d

r

0e[0, 2] | = det(A) =1 =99 5 8 2,
d =1 TF HHA R
Options:

g 7o

L 2(V2+2)

= =='4

) IE(JE 1)

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ARl 5 deR =i

2 4+d (sinf)-2
A= 1 (sinf)+2 d

5 (2sinB)—d (—sin®)+2+2d

r

0€[0, 2]. oA det(A) Al ~4rtc Buct 8 €ly,
d -l s1d 245 Bua &.
Options:

=
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_ 2(\2+2)

|

. .Z(M'E 1)

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

[f the system of equations

x+y+z=>5
x+2y+3z=09
x+3y+oaz=p

has infinitely many solutions, then p—a
equals :

Options:

1. 9

5 18

21

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

=i THIF T
x+y+z=>5
x+2y+3z=9
x+3y+oaz=p
FATHATAR, AIP—a TR E
Options:

1. 9

5 18

.
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Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
s H{lsuel deld

x+y+z=>5
x+2y+3z=9
x+3y+az=p

A 2t GEAL €M, dll f— o RICR

Options:

1 2

5 18

21

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

M0 20 o 3
s & i1 k

2\~ D =l
CG+7Ga) 4

then k
i=1

equals :

Options:
1, 90

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
3

. 20 -

s G k

A 2

1=1

== dl k YRR
E‘DCE | EUCE__[ J, 21

.
% @collegedumag
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Options:
1 50

> 100

4 400

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2 33
2 hﬂ{:i—l k

afz 2 =
i=1] EUCE f 21}{:i—l J 21
&

Options:
3, 30

1 k T

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the third term in the binomial expansion

3
of (1 | xl”mx) equals 2560, then a possible

value of xis :

Opti(_)ns:
1
1 8
1
s 4

.
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
.' T '.Ei\ =y
Az (1482 |35 Fe v e = 2560

F FUET S, Al x 1 UF G 7 B -

Options:
1
1. 8
1
2. 4

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S L
(14+21%82%)" 4t fudl Bieeor Aly 5 iz

2560 i, dlx -l sid 25 s Bud
6.
Options:
1
1. 8
1
> 4
N
n 22
42
4.

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1 @collegeduniag
India’s largest Student Review Platform



If 5, 5r, 51 are the lengths of the sides of a
triangle, then r cannot be equal to:

Options:
3
1. -
3
> 4
5
>, 4
7
4 4

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=f U st #1 e #1 @=E 5, 5r, 52 7,
A1 ¢ f= ° o g 9wEr T3 2 91 ?

Options:
3
1. -
3
5 4
5
>, 4
s
4 4

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
od 5, 51, 512 1 518 25 Bistoirll eyl deud=il
€L, dlr = - &1 a0k,

Options:
3

B

.
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e | w2

2.
5
= 4
7
4 4

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The sum of all two digit positive numbers
which when divided by 7 yield 2 or 5 as
remainder is :

Options:
| 1465

5 1256

5 1356

A
i 1365

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

THr Bt 91 S F 59 wensd, e 7 A
fawforg = W 2 415 SIU%e I 2§, w5
A

Options:

1 1465

5 1256

5 1356

ag
i 1365

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

@collegeduniag
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sdR 7 ob el 2 dald 2 2Ean 5 1o il
of gl dsd ad Hvyildl #dal
T

Options:
1 1465

5 1256

- 1356

i 1365

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For each teR, let [t] be the greatest integer

less than or equal to t. Then,

(1—|x|+sin |l x|].~+lnl% ]
lim e
xo1+ [1-x| [1-x]

Options:
equals 0

equals 1

= equals —1

i does not exist

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TeF teR F 70, =00 [t], t 3 99 @0 399
FH  Heww  qUiE ®, Al

(1—|x|+sin|l I|].‘+ll‘|l; )
lim 8
r—1+ |1—=x| [1—x]
Options:
0 % == 2|

1.

.
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o 1F TRE

5 —1F TRE

=1 HAfEE T8 2
4.

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Ucs teR iz, QRLS [t] 202l A 2280t A
©HlA ddy yeusi el el yais o, d

(1—|x|+sin|l xl)sin[;[l }.]1
lim o £ ]
Tl [1—x] |1—x]

Options:

1 GRleR 0

3
5 GRIUR 1

5 “relR —-1

, o Wity 2l

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
%
max] | x|, x°}. x|=2
Let fly={maxtixl %)
| 8-2|x|, 2<|x|=4
Let S be the set of points in the interval
(—4, 4) at which [ is not differentiable.

ThenS:

Options:

1 1s an empty set

5 equals{—2, —1,1, 2]

= equals {—-2, —1,0,1, 2}

3 equals { —2, 2}

.
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Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ity f{x.]:ﬁlnm_xilxl,lel, |x|=2

| 8=2 |, 2<|x|=4
HAIS, F=UA (—4,4) F A fagadl, A w f
ATFeHE TE , FET=EAE, A S

Options:

| UF T w=E

> (-2 —-1,1,2) F TR T

2 -2 -1,0,1,2} F TR E|

, (F2Faume

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i

qiRl 5 f{x_]={

max!|x|,x2}, |x|=2
5—2 |x|; 2<|x|=4
RS S (—4,4) idriaHl 2usaL 2l G-l
QLS & el f [Asarl 3l LS

Options:

, vl o 8

oRIR (-2, —1,1,2)

2

L, RIR {-2,-1,0,1,2)
2 =272

4 PROR (~2,2)

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let f: R»R be a function such that
f(x) = 2+ (1) +xf"(2)+[""(3), xeR.
Then f(2) equals :

Options:
@collegeduniaé
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1
5 )
g 8

4 —2

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A F@F f: RHR 39 3% % &
f@)=2+22 () +xf "(2)+f""'(3), xeR T
,J"(Z}E{W%:

Options:
g 4

g 90

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

aiRl 5 f: RoR =i =g [Qdy & & o2l
fx) = x> - 1-:!.f (L) +xf"(2)+f""(3), xeR l
f(2) 4R

Options:
1 -4

o 0

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

.
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The shortest distance between the point

;
i

3 :
I =5 U}and the curve 1!=V(1_', (x>0), is::
i, = 2

Options:

5

1,
3
> 2
3
n 2
5
4 2

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

3 . = [at n
fag [;, DW qA EE y=vx ,(x>0) F =
. A
=7 g1 ¢
Options:

V5

1.
3
=z 2
3
3 2
5
4. 4

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

W P, : .
[-t\"lg IE;{]] i o y:'u'q, (x>0) =2

A 2k 8. i
K @collegedunlag
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S

1.
3
=z 2
3
3 2
5
4 4

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let n=2 be a natural number and
O<B<ar/2.

1

. N E Py -
Then J‘{ﬂm 0 —sin0)™ cost 4o isequal to:

sin™" 1o

(where C is a constant of integration )

Options:

n+1

21'1 [1 1 Jn &
n‘-1 sin™ 1

1.
n+l
7 ntl
1
En Ll — J S o
n-+1 sin" "0
2.
n+1
1
= [I — 1" +C
n“-—11\ sin” " ' H
=
n+1
1
= [1| — 1” O
n“-1 sin" 0
4.

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1 @Collegeduniag
India’s largest Student Review Platform



AT n =2 T WIHd &A1 § 791 0<f<w/2 %,
' 5
& J'(am 0 QHIU}“CDEJJd] AT

(ﬂﬁtﬁw-w%)

Options:

_ n+1

A L
n-—1 sin” ' f

1.
n+1l
p L
n 1
; Ll — J " 4+C
n-+1 sin™ 0
2.
n+l
n 1
: [I - J“ +C
n-—1\ gsin" @
=
n+1
n 1
5 {1' —-11 " +C
n-—-1% sin" 0/
4

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
QRL S n=>2 25 Wiglds vl © 24 0<0</2

1

qt J‘(sm ) —sint)™ cosh o EIC ]

n+]

(sl C =l 'fi.&ﬂdrﬁ s 8.)

Options:

n+l

2,
@collegedunlaé




1
= [I - 1" +C
n°—11\ sin" " 8 )
=
n+1
1
"]I‘l {II - Wn C
n“-1 sin” 0
4,

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Rl S I= f{x‘l 2x¢%)dx . ot T =4etei™ 1L el
5445 adS (a, b) 2L £,

Options:

©,v2)

, (-42,0)
a2 .( V2, ‘E]

) 2, -2)

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let I=_|j:l(:r'4 ZIE}Eh’. If T is minimum
then the ordered pair (a, b) is:
Options:

©,v2)
2 (2,0
3. .( V2, ‘E]

) 2, —2)

.
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India’s largest Student Review Platform



Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I I=f{f4 2x*)dx #1 AfE 1 =FAAE E,
A ™ (a, b) E:

Options:

©,v2)

o .{ V2, 0)
3. ( V2, “'E]

) 2, —2)

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the area enclosed between the curves
y=ka? and x=ky? ,(k>0), is 1 square unit.
Then k is -

Options:

ol

1
.
o V3
s V3
2
i

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
g TR y=ka2 T x=ky2, (k>0) & =4 5
23 %1 HAFE 1 9 5HE ©, Wk WA T
Options:

.
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olén

1
it
o V3
s V3
2
i

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

s sl y=ka? 2 x=ky?, (k>0) 422 G284
UBA #oAsol 1 AUl =isd ¢, dl k =
8.

Options:

ol

|-

i

SIS

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

.dy‘ 3 1 (—ar A7
- -l V= ,:rel , —]
dr cos?x” cosix 3 3

) 4 .‘. [ T )
L) J"{IJ_E LAl IJETFEIT%:

Options:
4
1. 3

.
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—tp
2

1

e’
3 3

1
4. 3

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

- dy ?ﬁ' J}: 1 x[. i 1% T ) 2
sl ——1 == ¢ LE S B |
dr  cos? x cos x 3 3)

1[*]4 z l T
1’42} 3.di 3"\ 1) I

Options:
4
1. 3
—+EE'
2.
1
—I93
=t 3
1
4, 3

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct MarkS' 4 WrongMarks: 1

dJ' 3 1 _ ™ Tr)
If y=———5—, xd —, —|,
dx CGS X cos™ X 3 A

am:ljl W 3 thenjl chuals

Options:
4
1 3

.
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—tp
2

1

e’
3 3

1
4. 3

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[f the line 3x +4y— 24 =0 intersects the
x-axis at the point A and the y-axis at the
point B, then the incentre of the triangle
OAB, where O is the origin, is :

Options:
, @3

> 2)

= (3, 4)

L @9

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I T 3x + 4y — 24 =0 x-H%5 HI fag A 71
y-31e %1 fig B W Fredl &, @ A9 OAB,
W& O HeAfdg 8, 6 DR ¢ :

Options:

L @)

> 22)

5 G4)

4. (*4)

No Option Orientation : Vertical

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number
@collegeduniag
Correct Marks: 4 Wrong Marks: 1 India’s largest Student Review Platform



od XL 3x + 4y — 24 =0 2 x84 (G5 A 21010

9% 2 y—ugd g B 2o 8z, o B

OAB o »ids-g, sl O 2 Gouleyg o,
5.

Options:
, 43)

2 @2)
5 6.4

4. (#4)

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A point P moves on the line 2x—3y +4=0.
[fQ(1,4)and R(3, —2)are fixed points, then
the locus of the centroid of APQR isa line :

Options:
parallel to x-axis

. parallel to y-axis

3
with slope E
=5

2
with slope =
4 3

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T foig P, W@ 2x — 3y + 4 =0 R 7fq FLA 2
afg Q(1, 4) 7 R(3, —2) faftem faig € =
APQR % %z 1 fag99 (locus) T 7@ & ;
Options:

, T a1 F Wi

5 Eﬁfﬁy—ﬂﬁ%ﬂﬂfﬂ%l

.
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firer @t (slope) > ¥

" 2
g 2 = |

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

518 215 [Gg P 3l 2v — 3y +4 =0 uz 2lld 2
5. sd Q(1,4) 21 RG, —2) 2 B2 (g2l
¢ld, dl APQR l ueys~gdl [Ggua =i

Options:
, XA WAL 2L B

5 YR AR L B

gl 3w e

Mlu*'

alnenol 3L s

WiN

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[f a circle C passing through the point (4, 0)
touches the circle x*+ y? +4x—-6y=12
externally at the point (1, —1), then the
radius of Cis:

Options:

.
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TF 99 C, T3 (4, 0) T T A T 4 TN
x2+y2+4x—6y=12 =1 fdg (1, —1) W =@
T AT, WC F T

Options:

1. \/57

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ot (5 (4, 0) izl vz ud 215 4du C =1 adn
24yl +dr—6y=12 4[5 (1, —1) 210
opgiedl 2ugl, dl C -l Bisea Y,
Options:

1. \/57

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the parabolas y*=4b(x —¢) and y*=8ax
have a common normal, then which one of
the following is a valid choice for the

ordered triad (a, b, ) ?

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all

candidates.
@collegeduniag
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Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

At WEedl i = 4b(x — ¢) 791 > =8ax FITH

IV wfeld 8 o ha 3% (a, b, o) F

fore =1 5 § = W UF Wel fawer T2

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all

candidates.
Options:

(329)
2

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

od Al y2=4b(x —c) 2t y?=8ax - 58

A 2B @, dl Al 8L Y, sy

A4 (a, b, ¢) el dey wigell 87

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all

candidates.
Options:

lr 2,0
2
1. )
collegedunia:



- (1,1,3)

<
. (1L10)
f b
=, 231
x b2 g

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The equation of a tangent to the hyperbola
4x? —5y* =20 parallel to the line x—y=2

is :

Options:

1 x—y+1=0

o x—y+7=0

3_x~y—3=ﬂ
x—y+9=0

4 77

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HfTEed 4x2 — 52 =20 &1 T DqeEr =i
TG x—y=2 F TEH T, T TEHEE

Options:

, x—y+1=0
o x—y+7=0
3_x—y—3=0
4.x-y+9=0

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.
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wded 4x2— 52 =20 AL, vl x—y=2 <
At €l ol 24 2ugls 2wilsrel

8.

Options:

| E-yEl=l

o x—y+7=0

S_A—y—3=ﬂ
x—y+9=0

4 7Y

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The plane passing through the point
(4,—1, 2) and parallel to the lines

'xlz_y 2 z+1 =2 y—3 z—4
3 1 g2 Mo 3

also passes through the point :

Options:

L (L1

5 (1.1, —1)

3.(-1,—1,—H

i {(—1,-1,1)

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
feig (4, —1,2) | S ST el JHae 5 GG

iiE_y 2_zI1

x=2 y—-3 z—4

1 1 2 3
F maia &, = 8 4 fog fag § off <= =
T 9EE:
Options:
1. (1,1,1)

1.1, —1 .
2 ) @collegedunlaé



5 (=1, —1, —=1)

—L. =13
4.{ )

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

€5 (4,—1, 2) vl vz uad dal vl
'xll_y 2 z+1

X 2 y-3 z—4

3 1 2 4 1 ) 3
A iz ¢l dd Wadd (Ciguiall
YOL YHR A 8.
Options:
1. (LLT)
o (L1, =1)
5 (FL—=1,=1)
i -1

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Let A be a point on the Iline

—

r=(1 3%}'5 F (e 1)} H(24 5p,)i§- and
B(3, 2, 6) be a point in the space. Then the

—
value of p for which the vector AB is
parallel to the plane x—4y+3z=11s:

Options:
1

e *

1
4

00| b=t

.
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Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= . A A M
HATA TG ¢ =(1-3w)i +(n—1) j+(2+5n)k
¢ fiurd us foig @ 991 B(3, 2, 6) U =14 faig

%, 91 . 1 9% °H T faw wfEw AB THaE
_r-4y+32=1'3?m%, %:

Options:
1

e *

1
2.4

00|

|

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Rl b (65 A =l 2w

r=(1-3u)it(—1)j+(2+50)k R 2GS
2 B(3, 2, 6) 21 st »is [Gg 8.

S . :
UlEal AB %L HUdd x— 4y +3z=1 « H¥ick
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Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Corregt Marks: 4 Wrong Mgrks: 1
Let a=2i+M j+3k, B=4i+(3-X3)j+6k
and E}:E.}. Iﬁ:} H(Aq ]}i; be three vectors
such that b=22a and E}is perpendicular
toc. Thena possible value of (A, A5, A5)
is :
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Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The mean of five observations is 5 and their
variance is 9.20. If three of the given five
observalions are 1, 3 and 8§, then a ratio of
other two observations is :
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Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Correct Marks: 4 WrongMarks: 1
Anunbiased coin is tossed. If the outcome
is a head then a pair of unbiased dice is
rolled and the sumof the numbers obtained
on them is noted. If the toss of the coin
results in tail then a card from a

well-shuffled pack of nine cards numbered
1, 2, 3, ..., 9 is randomly picked and the
number on the card is noted. The
probablity that the noted number is either
7Jor&is:

Opti_ons:
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Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Consider a triangular plot ABC with sides
AB=7m, BC=5 mand CA=6m. A

vertical lamp-post at the mid point D of AC
subtends an angle 30° at B. The height
(in m) of the lamp-post is :
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Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider the statement : “P(n) : n> —n +41
is prime.” Then which one of the following
is true ?

Options:

, Both P(3) and P(5) are false.

5 P(3) is false but P(5) is true.

. P(5) is false but P(3) is true.

4 Both P(3) and P(5) are true.

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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